
125

kWh

)(
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127

180 VA
180 VA

180 VA

360 VA
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= ×
= 3 ×
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130



131

320A

A

B

C

N

100A 330A 310A

420A

430A

410A

330A
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100

35

25

60

50

35

100

50

100

100

50
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134

1 2 3 4 5
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8026230
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(A) (A) (A)

5 (15) 16 10

15 (45) 50 30

30 (100) 100 75

50 (150) 125 100

200 
200 150

250 200

400 

300 250

400 300

500 400
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(A) 

( . .)

(A) (A) (A) (A)

(A) 

5 (15), 1P 10 4 30 16 20 16 16

15 (45) 1P, 3P 25 10 60 50 - - 50

30 (100) 1P, 3P 50 35 100 100 - - 100

5(100) 1P, 3P

10 4 30 16 20 16 16

25 10 60 50 - - 50

50 35 100 100 - - 100

200 3P
50 35 - - - - 125

70 50 - - - - 160

95 70 - - - - 200
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139

1 2 3 4 5
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141

A B CN

320A

3
3
0
A

3
7
0
A

3
6
0
A

3
0

3
8
0
A

NN
G

500A

IEC 01, 3×240 . . ( )

IEC 01, 50 

330A

50A

310A



142



143



144

MDB



145



146



147

( . .) (A)

1 55 30 15 (45) A 1P 

150 75 30 (100) A 1P 

180 100 50 (150) A 1P 

180 30 15 (45) A 3P 

483 75 30 (100) A 3P 

666 100 50 (150) A 3P 

1,400 200 200  A 3P

2,866 400 400  A 3P

2 35 10 5 (15) A 1P 

180 30 15 (45) A 1P 

525 75 30 (100) A 1P 

800 100 50 (150) A 1P 

690 30 15 (45) A 3P 

2,475 75 30 (100) A 3P 

3,000 100 50 (150) A 3P 

6,300 200 200  A 3P

12,900 400 400  A 3P

1P 1 2 
3P 3 4 



148

( . .)
(A)

1 55 50 15 (45) A 1P 

5 (100) A 1P 

150 100 30 (100) A 1P 

180 50 15 (45) A 3P 

5 (100) A 3P 

483 100 30 (100) A 3P 

666 125 - 200 A 3P  

CT1,400 200 -

2 35 16 5 (15) A 1P 

5 (100) A 1P 180 50 15 (45) A 1P 

525 100 30 (100) A 1P 

690 50 15 (45) A 3P 

5 (100) A 3P 

2,475 100 30 (100) A 3P 

3,000 125 - 200 A 3P  

CT6,300 200 -

1) 1P 1 2 
3P 3 4 

2) 
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( . .) (A)

1 40 30 15 (45) A 1P

105 75 30 (100) A 1P

140 100 50 (150) A 1P

125 30 15 (45) A 3P

320 75 30 (100) A 3P

425 100 50 (150) A 3P

850 200 200  A 3P

1,700 400 400  A 3P

2 80 30 15 (45) A 1P 

190 75 30 (100) A 1P 

260 100 50 (150) A 1P 

230 30 15 (45) A 3P 

580 75 30 (100) A 3P 

770 100 50 (150) A 3P 

1,550 200 200  A 3P

3,100 400 400  A 3P

1) 1P 1 2
3P 3 4 

2)
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( . .)
(A)

1 40 50 15 (45) A 1P

5 (100) A 1P 
105 100 30 (100) A 1P

125 50 15 (45) A 3P

5 (100) A 3P 
320 100 30 (100) A 3P

425 125 - 200 A 3P

CT850 200 -

2 80 50 15 (45) A 1P

5 (100) A 1P 
190 100 30 (100) A 1P

230 50 15 (45) A 3P

5 (100) A 3P 580 100 30 (100) A 3P

770 125 - 200 A 3P

CT1,550 200 -

1)

2)
3)
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1-10

11-20

21-30

31-40

1-10
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=   
135,6003×400 = 195.7 A
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5.10 (Zero Sequence Sensing Method)

GFR

Load

NN
G

A
B
CC
N

GFR

Load

NN
G

AA
B
C
N

ZCT
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GFR

Load

NN
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B
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